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MHMY [ AMZE / BYEA/ BREE .

0| B& > 2Y&L|e] ZE (5% FEH)
=4 (Efficiency) / 7+& & (Effectiveness)
O|R A (XFa)e| 8L M = (doing thing right)
MM A = (doing right thing)




2H5iZ2 1™ (Engineering Process)

Define the problem
Analyze the problem
Prepare alternatives
Evaluate alternatives
Select the solution

Implement the solution

- SWI1H
- System Analysis and Modeling

- Availability, Relativity, etc.
- Input-Output Analysis,
Capital budgeting, etc

- Mission Oriented : Sales maximization,
Profit maximization, Sensitivity Analysis

- Control and Feedback
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22 S AI(Applied Statistics) o1ZkasHErgonomics&Human Factors)

O|AHE M E AM(Decision Analysis) OIxjl & Biomechanics)

OI=/AIHI 2 2A(Forecasting/Time series)  HCI(Human Computer Interface)

& 2lQuality) HMI(Human Machine Interface)

Q| Y2 A(Regression Analysis) 017 S(Human Performance)

M Z| M(Reliability) Industrial Ergonomics

Simulation HIE A Al(Product Design)
Safety/Health

X4 | AEl(Information Systems) 5@ elSWork Physiology)

EDMS/WFMS JI=Z Y9 (Management&Technology)

?"\I'g;gg‘S}'EltSegrat'O“ M XIA'H #H(Electronic Commerce)

> c| A X|LI 01 S(BPR)
_ _ =HA
L HIS Elindustrial Computing] ;I%lI?}glEllglggv?l?eednagnl\tngrflaT;é:nqgglt?gy]

AHARE|(Manufacturing Management)

Production and Process Design A 0peration Research)
— CAD/CAPP/CAM

— Design for Manufacturability Zdl A= (mathematical programming)

— Manufacturing DB Network/Combinatorial Optimization
Manufacturing Systems OR application

— IDEF/NN/Petri-Nets [HJIOIEIQueumg Theory)
A ArSChedunng)
— Logistics/Robot/AGV/ASRS ENI&* HtA([Stochastic Process)




